plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

Smooth / Wood Grain / White Wood Grain
Rustic / Mahogany

Series N Fiberglass Door

INSWING / OUTSWING
"NON-IMPACT"

GENERAL NOTES

1. This product has been evaluated and is in compliance with the 2010 Florida Building Code
(FBC) structural requirements excluding the "High Velocity Humicane Zone" (HVHZ).

2. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to
base material shall be beyond wall dressing or stucco.

3. When used in areas requiring wind bormne debris protection this product is required to be

protected with an impact resistant covering that complies with Section 1609.1.2 of the FBC.

4. For 2xstud framing construction, anchoring of these units shall be the same as that shown
for 2x buck masonry construction.

5. Site conditions that deviate from the details of this drawing require further engineering
analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevation, design pressures, & general notes
Door panel details

Sidelite panel details

Horizontal cross sections

Vertical cross sections

Vertical cross sections

Buck anchoring

Frame anchoring - 2X buck masonry construction
Frame anchoring - 1X buck masonry construction
Endura astragal details

Bill of materials, glazing detail & components

=IOV IV |WIN|—

|

15.25" MAX.
FRAME WIDTH

104.50" MAX. OVERALL FRAME WIDTH
74.00" MAX. FRAME WIDTH

82.00" MAX. OVERALL FRAME HEIGHT - INSWING

80.50" MAX. OVERALL FRAME HEIGHT - OUTSWING

|

INSWING

104.50" x 82.00"

21.00" x 63.00"

7.00" x 63.00"

OUTSWING

104.50" x 80.50"

21.00" x 63.00"

7.00" x 63.00"

Gl

+47.0

-50.0

+50.0

-50.0

e
2 &
g 22 3
z".%8 4
;RS W, S8
go"!izt",
£tB 65 U
Fsugs wo
3>"53§&J
Zowm 5 ¢t ]
588,850 ¢
vggz°‘63f+$
asdgu c
Igmnln.lg% S
P §%£ 5
5 5L
£ &9
8
o
(73]
w)y
of &
oo °3F
28| Zy
52
8§>:. S©
[ [ T
me
1
|2 gn:
oe E 3
3 g E3
2 gy
[
2 B &
a. o
>
m
[72)
¥ A
O
2]
ol
oz
-
<
(=)
o
>4
oaTE: 02/16,/12
SCALE:  N.T.S.
CHK. BY: LFS
DRAWING NO.:
FL-15213.18

sweer _1 oF 11

R\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213\FL-15213.12-18.dwg, FL-15213.18

© 2012 R.W. BuiLDING CONSULTANTS INC.



TAN] SANYIINENDD aNIgTINE "M 2108 @

~ BOPCH "ON “I'd “IPIUYDS 4 uopukl SNOISIATY i ©
<2 &AN STVLIA TINV] ¥00a A8 avd oM L w| = (9
€186 "oN ucfiozuony JO SIDSPILE] - NS oM
sieouibun |DUCIEBBICI IO PIDOE DPLO)] -ATENESSY 0 Ldvd Mm T o m &
L6LE'659°ELE ON ouOug J000 SSv1oy3al N 20 |qf
SBSEC “1d OOUIPA 0£Z Xod ‘O°d \N\P@ "ONI 0dd1SYld o| . |&|&lg 1
"ONI *SINVIINSNOD ONIGING . i m elE |
:Ag pespdeld sjuswinoog ~LINA0Hd & M & m %
(%
®) .
%
© B ©
. 3
= == " m
-
5
T
&z >
@ ) O
%
® & : o
i :m_..—. —n“
u@: e
i SE
ol
* a8 O
. |
:50 « wal & .
25
R —— i
=z R — ~E
o * gl
5 Sl= A
Ly
5 3) i B
=
// 3 s
o I/4 o 62 iy}
@ o O : 3
e [a'4 aal] % O
L W = - &
Z 5 B o
/4 = ! 1
oL
- 5 ®
O > — L0 |=— .
P

159" —=]

e TOP RAIL
£/ Celular PYC

/ Cellular PYC

@7 HINGE & LATCH STILE

21.00" MAX.
D.L.O.WIDTH

36.00" MAX
—<——  DOOR
PANEL WIDTH

® 0
HOEH 'O Td XYW .00°€9

1IHOIFH TINVd 3000 XYW .5T°64

81°7 ‘BMpP'8T-ZT'€1Z51-1:\0T02\SBUIMRIA DEMY "A\L8ST Jd\009T - T0ST [osd\stepiod palosd\sioafold - v\



TOME SANYLINSNOAD SMNIaTINg MY 2108 @

60PEY "ON "F'd “PIWYSS "4 UopuA SNOISIAZY ©
T2reeZ NBK&“ STVL3Q TNV 3LTIAIS A8 VA N | N, (o] = |
€186 ‘ON ubloZUOUIY IO @1DounIeD ) fnﬂ 203 Ll .
eieeuibuly |DUCIBBBIOLY JO PIDOE DPMOIY ATENESSY O Lavd [Ts) - Oy
L616°6G9°CLE I"ON suoud 4004 SSY19Y434ld ,ww. .. g9 3_
GBEEE 14 OSUIDA OSZ %08 °O'd \m\w% *ONI OMdISYId Bl& 2 |
*ONI “SINYLINSNOD ONIgIng . g m sl 12 2 | B
:Ag pespdesd sjuswnoog -1oNA0ud a8 m 5 W %
©, o 3
7 3 . =
= ﬁ o
e
e 3
tig
o F 5 I TR 5
B m
n e e
|
® 5 B >
o (®
= ejen

. Wl
A‘a!:&m_.!s' m %
* g .
gl 8
S —— TIoE
o - Mmm
[ g5 9
S==z
i
=
.
ug
i f 5
s e
y/i ol 2 g
o /4 v G2 = ,, , Sob
& g IR
M m W ..mm._. muclo.mhnlw
v
= £
(0)
< .
Al E
I S
[:-]
% -
j .
Joi
as
3|0

13.75" MAX.
SIDELITE
PANEL WIDTH

@ SIDELITE PANEL

W TP

b
ﬁ‘ll THOEH "O7'a XYW .00°¢?

IHOREH TaINVYd 3LM3AIS XYW .5T°6L

7.00" MAX
D.L.O. WIDTH

8T°C ‘BMp8T-Z1°€TZST-1H\0T0Z\sBumesg DaMy "a\/8ST Jd\009T - 10ST loud\siopio4 weloid\s1osfoid - v\



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.12-18.dwg, 4.18

1-1/4" MIN.

EMB. (TYP.)

E
S

INTERIOR

N\me

4

SEE
NOTE 1
<. ‘
o7 ’ D
! \
.. A

!,

—@)@

-

0.15"
~— C'SINK
(TYP.)

m HORIZIONTAL CROSS SECTION

w Outswing shown - inswing
also approved

(39

SEE
NOTE 1

I\

40
INTERIOR

A\

ot s

EXTERIOR

7“2\ HORIZONTAL CROSS SECTION

\\4// Outswing configuration

EXTERIOR

x|

-

)
o N
ol
N

NOTE:
1. Sidelite panel secured fo the sidelite frame with (4) of item
#M located 10", 30.5", 51" and 71.5" from top of each jamb
and {2) of item #M in the head and sill 3" from each end.

2. As noted in the test report astragal was attached o the
inactive leaf with {10} #8 x 3" psh sms and (4] #10 x 2-1/2 pfh
sms for all 6'-8" (outswing). Astragal was attached to the
inactive leaf with {9} #8 x 3" psh sms and (4] #10 x 2-1/2" pfh
sms for all 6-8" (inswing).

l
f
i
;

vy

, 0 SEE
@‘ : NOTE 2
m HORIZONTAL CROSS SECTION
w Outswing shown - inswing
also approved

INTERIOR

EXTERIOR

N

-

(50

1-1/4" MIN. N
EMB. (TYP) 1~
SEE e
M)worer | v

/~4 "\ HORIZONTAL CROSS SECTION

w Shown w/1X sub-buck

Y

SEE
OTE1 -

40
EXTERIOR
=
‘ —
é) ‘ b INTERIOR
/75 "\ HORIZONTAL cnoss SECTION

w Inswing configuration

Ee7ca

tion No. 9813
Lyndon F. Schmidt, P.E. No. 43409

P.O. Box 230 Valrico FL. 335885
Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
Flerida Beard of Professional Engineers

Certificate Of Autho

Documents Prepared By:

FIBERGLASS DOOR

PLASTPRO INC.
PART OR ASSEMBLY:

HORIZONTAL CROSS SECTIONS

PRODUCT:

BY

REVISIONS

=
S
o
Z
2

pate: 02/16/1

SCAE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-15213.18

SHEET _4 OF 11

© 2012 R.W. BUILDING COMSULTANTS ING.



TOM BLNVLINSMOO 91Q71UNE "M 1L 02 @

8O¥CP ON "3'd “IPIWYSS 4 uocpukq SNOISIAZY
3 )
IS = SNOLLOZS SSO¥DO TvouyaA |48 Ava oMY Lelo| = |
£186 ‘ON uoppzloyny 1O e1DOYIeD - Nas|iyl om
sseeuibul |DULIESEOIY JC PIDOE DPHOLY .\ﬂm.&uww,q 40 Livd Mm = . ...zu s
L6L6°659°CL8 FON Suoud Jood SSviod3dad N g w 5_
S6GSE “14 OSMIDA OSZ X0 ‘O'd \Sg@» “ONI O¥dLSY1d S| |&l&le T
*ONI ‘SINVLINSNOS SNIGHNG . i m . m 2l
Ag pespdesd sjuswWINSOg -13NaoYd 3 m m m %
('dAL) ‘awa
NIW #/1-1

.q. _.2, @@

| QOK o«
SR o @)
. oz oz
. = = =
: ' zl § Z S
: =
O o
< v (% ]
e 23 Qs
L ~ O3 Q|¢
v D O|7 o2
. 25 25
. Sy
Ve m w Ul o
v m R W m m.m
3 @ & >|5 = Sl e
‘ ] L
P =
e D B

(dAL) gwWa
NIW F/1-1

('dAL) 'gW3
"NIW .#/1-1

[a"4 oz
o = O =
oz O o’ Q
= E = =
= Ulo > O
=l We = S| s
0| & et
fe oz,
S S
Sgg 3
n. (&) n.l
L El22 =2
. N _ o =13
O O A
¢Amwv m_ ® N Amwv
(AN LLY
L i Al
N
("dAL) "aw3
NIW /11

81°G ‘BMp gT-zT €128 T-1-\0T0Z\sBumelq Jamy "a\Z85T 4d\009T - 105T fosd\siapiod pa{oid\sysaford - v\



1-1/4" MIN.

R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.12-18.dwg, 6.18

AY
o A
3 .08
g5 58 ¥
gREag Vg
.« T & PR S * BEg o8\ a
PRI S e AN 3>0 830
: . - T = v v 4 I S = v Zomt o
o= & s L]y ERPRES_ N | o §8R; LM E
= N « . ZE A Loate PR ggéz"éﬁ\j‘f
= EEDUITE — S 1 ggd§§5 .
, 3 E s Bok o 3 :O;
e ¥ =2 ® L 2 = gs 5
- g e
’* e 7 T ‘\@ e \@ '2 e é @ ]
@~ 2 §
t = 77— = —@® -°
I 2 \®SEE \®SEE 2
s M — NOTE 1 NOTE 1 2
0 Z e b~
s £ @ NOTE: @ 8
9 1. Sidelite panel secured fo the sidelite @ ‘\-@ =9 I
| 7 B frame with (4) of item #M located 0 51 4
10", 30.5", 51" and 71.5" from top of /4 =T &
EXTERIOR INTERIOR each jamb and (2) of ifem #Min EXTERIOR INTERIOR S5 2
—_— — the head and sill, 3" from each end —/—2\—* o 2< S
VERTICAL CROSS SECTION 5 x| o
WShown w/1X sub-buck é ol Y
1"\ VERTICAL CROSS SECTION 5 &
\y Outswing shown - inswing o a
also approved -
A}
EXTERIOR INTERIOR
EXTERIOR INTERIOR
V/i
(a1) .
=
(20 5
7]
£ o
: Y-
b
L3
v} nq .
P .'4,, W s N
R .4>.‘q 2
. <L g =
-, , ) )
=z
oaTE: 02/16/12
scAlE:  N.T.S.
DWG. BY: JK
/3" VERTICAL CROSS SECTION ok By LFS
\_8_/ Outswing shown - inswing 7“4 \ VERTICAL CROSS SECTION DRAWING NO.:
also approved w Inswing configuration FL-—-15213.18
SHEET 6 oF 11

@ 20712 R.W. BuiLpDiNng CONSULTANTS INGC.



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.12-18.dwg, 7.18

4 — = 4 —
.
S a..oo T 4“‘—1 - # | “]
o [l [ T £
=\ ! | |
L I 1 I N
T | fl
" TYP.HEAD I l” —_
MASONRY & JAMBS
OPENING | I m
Il | {
B Il 1 i =
2X BUCK |
MULLION
Y HN H\ AND ASTRAGAL J’H =&
I H SHOWN FOR [ 35
I ! REFERENCE ONLY m 52
— Il | l
Il ] I
= | [
sl \ | I
— — BUCK ANCHORING

CONCRETE ANCHOR NOTES:

1. Substitution of equal concretfe anchors from a different supplier may have different edge
distance and center distance requirements.

2. Concrefe anchor locations at the comers may be adjusied to maintain the min. edge
distance to mortar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX., ON CENITER" dimensions are not exceeded.

hor table:

W /4" 1-1/4" 2-1/2 3

Eco | ya 114" 1k &

d
i
aY
0 Ve
o P -2
2 En Ve
6B E£3 5
£ n 2o |
REFRE
gc‘”-iz
e@ S\ u
’_':T,w's,g .
2 3 85 -
n @ 4
235'2'%!{2
;‘SN':&O\QE
@ .5 N§
vgézOQ: 5]
55%28s o
a =0 ©
*Rek e S
. o ©
o U c
8 SUE x
c et
[ O g
E@ o
=1
8
o
e )
g8l 2
I
7| PR
et
ERlg <
Q&S x
Lamlo 3
o [ m
14
§ o
'—
]
z &
>_
tm
)
=
o
|
2
B
<
Pt
o
Z
DATE: 02/16/12
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—15213.18

sweer 7 oF 11

@ 2012 RW. BultDiNg CONSULTANTS NG,



0 N
. ¢ 83 il 8§
S 6 —m] | £8 &g .9
= S 3 “T*y EEE AN
, . " ..""ﬂv":".,:},"“‘,..;‘ 6" e — a! o
== te 0 |W ] T 1 m " al g5 2% R
. o - J— Zow 5 & B
] || \_ SEE DETAIL ! / \}\ 58858 Q £
1m e - £ 33N3
e | l "2 io v 98% 6x ]
| | - 28 () 53.285
; [~
= || MASONRY | M O=yng LS I
N OPENING |} = TYP. HEAD & I - i : g 5
. Rl £
JAMBS | N < | =) Es <8
\, | 2= <z 8
ASTRAGAL Nz & Z ¥ / W z
= e b 4 >xO
& . 1‘ REFERENCE ONLY “ LATCH & DEADBOLT DETAIL HINGE DETAIL o N2
! -— - =5 &3
5 i . &)
— 3 SEE DETAIL 20l £
. | -~ oo _ D =&
RN I I [ I I || g% LS
g 73]
ne , T ey Lo =2
DN g Mo B
8l 18 s
8 2
& &
HINGE JAMB FRAME ANCHORING ASTRAGAL STRIKE JAMB %
Masonry 2X buck construction @\ @
©w
ol o o N %)
)
0
g.
CONCRETE ANCHOR NOTES: DETAILZ
1. Substifution of equal concrete anchors from a different supplier may have different edge
distance and center disfance requirements.
2. Concrete anchor locations at the comers may be adjusted to mainfain the min. edge o
distance to mortar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance o mortar joints, additional concrete anchors E
may be required fo ensure the "MAX. ON CENTER” dimensions are not exceeded. Q\' 4
3. Concrete anchor table: "\"'g ’§;~ S
k] = ‘ z
paTE: 02/16/12
scale:  NT.S,
ITw e 1-1/4° 2-1/2" 3 Dwe. BY: JK
- DETAIL 1 DETAIL 1 CHk. BY:  LFS
nmw 3/16 1-1/4" 2-5/8" 2-1/4 Inswing configuration Outswing configuration DRAWING NO.:
FL—-15213.18
SHEET 8 oF 11

R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213,12-18.dwg, 8.18

© 2012 R.W. BUILDING CONBULTANTS ING.



@
=i
o

g

=
<
=
-
o
-
&y
e
o
L)
0
P
T
-
=
i
=

8 i
. MASONRY
& OPENING
LR FRAME—""
&
—H3
HINGE JAMB
CONCRETE ANCHOR NOTES:

¢ &

=2

—— ]

JR——

TYP. HEAD &
JAMBS

TYP.

SEE DETAIL

- II‘!“

l |W l
|| \__ SEE DETAL"2"

Il ASTRAGAL
|| /| SHOWN FOR
||/ REFERENCE
| ONLY

1
i
|
|
|
|

12" MAX
ON CENTER
i

24" MAX. _'
ON CENTER

-

e
s
N oot B
3 . ,. o
: N 2y

FRAME ANCHORING

Masonry 1X buck construction

1. Substitution of equal concrete anchors from a different supplier may have different edge

distance and center distance requiremens.

2. Concrete anchor locations at the corners may be adjusted to maintain the min. edge
distance to mortar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted fo maintain the min. edge distance to mortar joints, additional concrete anchors
may be required o ensure the "MAX. ON CENTER" dimensions are not exceeded.

nchor table:

ITw

V4

1-1/4"

2.y

3“

ITW

3/16°

1-1/4"

2-5/8°

2-1/4"

/ \

- 28 i;

6:.:

®
~@

55— |-

ASTRAGAL STRIKE JAMB

DETAIL 2

/A
I/ \é\
LATCH & DEADBOLT DETAIL HINGE DETAIL

DETAIL 1

DETAIL 1

Inswing configuration

Cuiswing configuration

e
N~
g £\
. oM .-
g3 E£g 0N
= ,\gm
.L—fgmd
"Qo“fﬁz
Zoo ¢
=T 0 ¢
J50 88
DS @t
@ "’004
= g M
Zomg':
« OB
gfow-:ﬂ-g‘\]
S .5
328,01
£ m
§ 8 285
e 5228,
n_mn.n. 45
o O
8 o E
& TP
@ [P
)
g
&

Lyndon F. Schmidt, P.E. Neo. 43409

PLASTPRO INC.
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

FRAME ANCHORING 1X
BUCK MASONRY CONSTRUCTION

BY

NOJ DATE

REVISIONS

DATE: 02,/16,/12

scale:  N,T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-15213.18

SHEET 9 oF 11

© 2012 R.W. BUILDING CONSULTANTS [ND.




TONE SLNVLITASNGYD aNIATNg MY 2108 §

B80VEF "ON "T'd “IPIUYSS 4 uopuiy SNOISIAZY

, . i W |
200202 s SIVII TvovMISy venang - |-A8 AV N o sl lo| = [H

€186 "oN uoppzusiing JO e10oNIeD ; ol NS o] IR
sssouiBul {DUCISESIOL JO PIDOE DPLO|Y SATENESSY d0 Lavd U..... = o m &
LBLB'BSO'TLE TON euoud H004 SSYI9d34ld ) Z guw O_
GBGEE ™4 OOMIDA OCZ %08 ‘O'd \Sug “ONI Q8dLSYId @ B & 1_. -
ONI ‘SINVLINSNOD ONIdHng . i m N m o m

:Ag pespdeld sjuBsWNOOQg <10NA0Yd & M M W

5|2 =R
! =g 1 <5
|5 L=
I o 1 S
3 5% 3 g
WOLIO® - 2% z a2
j a 8=
T - = 050 —== 060 —= ,
X3
2
=
_ g
L . © N
2 =]
2 <
et (oY}
2 g
T 5 =l
o 8 |, ] i R
< oE
<3
5 5
MR, = mm
s
® = w:v.....
> .m [ <€ién
= M
<+ <5
o 5" -l 8 <| D
e 3 8
' © 9 G.m m.m
* 5 =
° S E
g
© £
Q * gl 3= 5
. =1 =" <,
R . S
5 2 =,
™ g0
R ]
o
@)
X
-}
(A
T
=
|TU @
Q
A kil
m O
- ZEO—=  |=—
1] » RS, —
. Ql
[p) (%]
w .
[ - B el
i o wl o
N~ s
3 A=
3n o
0
| ®
oo
# - IA.IH
i oy L
P o o
b33 -
o — V-V
dol

81°0T 'BMP'8T-ZT'€TZST-14\0T0Z\sBumesq Damy "a\L8ST 4d\009T - T0ST foud\ssapiod 100{01d\s103(04d - W\



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.12-18.dwg, 11.18

BILL OF MATERIALS

ITEM| DESCRIPTION MATERIAL |ITEM| DESCRIPTION MATERIAL (‘J
A | IXBUCK SG >=0.55 WOOD 27 | LATCH STRIKE PLATE STEEL 0 p 1:‘ o
B | 2XBUCK SG >=0.55 wWOOD 28 | DEADBOLT STRIKE PLATE STEEL é E’; E g N %
C_| 1/4" MAX. SHIM SPACE - 29 | SIDELITE SPACER PVC =580
D | 1/4" X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL 30 | WEATHER-STOP 3647 HOLM INDUSTRIES VINYL %—’ 8 E 3 2\ =
£ | MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE |31 | OUTSWING BUMP THRESHOLD ALUM. / WOOD 55858 o
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90 32 | VINYL DOOR BOTTOM SWEEP #3628 BY HOLM IND. PVC 2 f; g $ @ g
F11/4"X 2-3/4" PFH ITW CONCRETE SCREW STEEL 33 | INSWING ADJUSTABLE THRESHOLD BY ENDURA ALUM. / WOOD 5 8a 3 GEANE
G |3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL 34 | INSWING ADJUSTABLE ALUMINUM THRESHOLD BY DLP ALUM. / WOOD 9 2 § z%2 3
| | 1/4" X 2-1/4" PFH ITW CONCRETE SCREW STEEL 35 | SHOE MOULD 5/8" X 3/8" WOOD g g s § E 5 ‘:
J 1 1/4" X 3-3/4" PFH ITW CONCRETE SCREW STEEL 40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS - G T §
K | #10 X 2" PFH WOOD SCREW STEEL 41 | DOOR SKIN (MIN. 0.075" THICK) FIBERGLASS £ g 1_3 %‘3 >
L | #10 X 2-1/2" PFH WOOD SCREW STEEL 42 | TOP RAIL CELLULAR PVC § @% £3
M | #8 X 2" PFH WOOD SCREW STEEL 43 | LATCH & HINGE STILE CELLULAR PVC §
N |3/16" X 3-1/2" PFH ITW CONCRETE SCREW STEEL 44 | LOCK REINFORCEMENT WOOD
O | 3/14" X 1-1/2" PFH ITW CONCRETE SCREW STEEL 45 | BOTTOM RAIL CELLULAR PVC o
1 | #10 X 2-1/2" PFH SMS$ STEEL 46 | POLYURETHANE FOAM BY NAN YA POLYURETHANE = 0
2 | #8X 3"PSH SMS STEEL 47 | CONTINUOUS LATCH & HINGE STILE REINFORCEMENT WOOD x 55
3 | FLUSH BOLT STRIKE PLATE STEEL 49 | GLAZING COMPOUND DOW 995 SILICONE e § m.CZ,
7 | FORCE 5 WEATHER STRIPPING BY ENDURA FOAM 50 | SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS - cul . 2=
8 | COMPRESSION WEATHER STRIP QLON 650 BY SCHLEGEL FOAM 51 | SIDELITE TOP & BOTIOM RAIL CELLULAR PVC g g g .58
9 | 4" X 4"BUTT HINGE STEEL 55 | LIP LITE ODL/WESTERN REFLECTIONS HP POLYPROPYLENE g SIS <%
10 | #9 X 1" PFH WOOD SCREW STEEL 56 | GLAZING SPACER ALUM. s 1 I
11 | #9 X 3/4" PFH WOOD SCREW STEEL 57 | #8x 1-1/2" PFH LITE FRAME SCREW STEEL = x ok
17 | KWIKSET KEYED ENTRY - SIGNATURE SERIES STEEL 61 | 4-3/4' LENGTH TOP BOLT RETAINER HDPE 2 o =
18 | KWIKSET DEADBOLT - SIGNATURE SERIES (780) STEEL 62 | 9-3/4" LENGTH TOP BOLT RETAINER ALUMINUM 2 %
20 | FINGER JOINTED PINE FRAME, HEAD & HINGE JAMBS WOOD 65 | ASTRAGAL BY ENDURA PRODUCTS ALUMINUM -
21 | POLYFIBER JAMB COMP, /VINYL | 67 | SLIDEBOLTROD STEEL m
= 468"
. - 37— N |
Wy
~ p5g _ B | 456" s i — § g
§ \\xx =1 L = ' r T @ OUTSWING BUMP THRESHOLD j %
) L ; ]
i
P B b 25 (SEIESEACE 05" GLASS 1" MIN.
! : ‘ : BITE GLASS THK.
Laf
, s 43 , . AIRSPACE <
| | 4.56" 1 OPTIONAL S
grhr‘““ﬂ ] 1 DECORATIVE INSERT Z
3 sm SPACE oate: 9/8/08
1/8" TEMPERED p— N'Tj('
R - GLASS CHK. BY: LF S
73 ) ADJUSTABLE INSWING THRESHOLD (34 ADAUSTABLE INSWING THRESHOLD 55 57 T Fle15213.18

sweer 11 oF 11

© 2012 R.W. BUILDING CONBULTANTS INC.



